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Section : Part-A-General Intelligence and Reasoning

Q.1 Select the number from among the given options that can replace the question mark
(?) in the following series.
784, 568, 443, ?, 352

Ans X 1.382
& 2.361
X 3.427
& 4.379

Question ID : 26433074535
Status : Answered
Chosen Option : 4

Q.2 Xand Z are sisters. Y is the brother of Z. S is the daughter of Z. T is the brother of S. T
is married to U. How is Y related to S?

Ans X 1. Father
«” 2. Mother’s brother
< 3. Brother

X 4. Mother’s father

Question ID : 26433074600
Status : Answered
Chosen Option : 2

Q.3 Which of the following numbers will replace the question mark (?) in the given series?
8,17, 36, ?, 154

Ans X 1.57
5 2.86

X 3.46
& 475

Question ID : 26433076737
Status : Answered
Chosen Option : 4
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Q-4—TFireedifferentpositions of the same dice are shown. Find the number on the face opposite the
face showing “3°.
/, \\ /r/ .\\ // \'\
e ™ 4 \3 A :
N4 % [\__ 3 A [\ ¥
3 ] //%/- \ti\‘\. //5/.: .\3\ . /,' 1/;
Y p "~ V4 N 7
\I/ \:Iir’ \I/
Figure 1 Figure 2 Figure 3
Ans X 1.4
K22
X 3.5
4.6

Question ID : 26433089453
Status : Answered
Chosen Option : 4

Q.5 Select the correct mirror image of the given figure when the mirror is placed at MN as shown below.

M

aSTroNomY
N

< YrmoWoATzs
> YrmoWo1Tés
<> YmoloAT2gs

<+ YrnolloAiee

Ans

Question ID : 26433085561
Status : Answered
Chosen Option : 2

Q.6 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 dream
2 drown
3 drone
4 dropped
5 drama

Ans X 1.52314
X 2.5314,2
X 3.5431.2
& 4.51342

Question ID : 26433069289
Status : Answered
Chosen Option : 4
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Q-7 Which-of-the-folewing letter-clusters will replace the question mark (?) in the given

series?
YSEA, WQGC, UOIE, ?, QKMI

Ans X 1.SMLH
X 2.RMLG
« 3. SMKG
X 4. RMLH

Question ID : 26433076439
Status : Answered
Chosen Option : 3

Q.8 Three statements are given followed by two conclusions. Assuming the statements to
be true, even if they seem to be at variance with commonly known facts, decide which
of the conclusions logically follow(s) from the statements.

Statements:

Some trains are buses.
No bus is a car.

Some cars are bikes.
Conclusions:

1. Some bikes are cars.
2. Some bikes are trains.

Ans X 1. Neither conclusion 1 nor 2 follows.
/5 2. Only conclusion 2 follows.
/< 3. Both conclusions 1 and 2 follow.

«” 4. Only conclusion 1 follows.

Question ID : 26433089423
Status : Answered
Chosen Option : 4

Q.9 Which two numbers (not digits), from the given options, should be interchanged to
make the given equation correct?
158 -64x6+2=4%x15+3

Ans X 1.15and 158
X 2.64and 6
X 3.64and 4
o 4.6and 4

Question ID : 26433082479
Status : Answered
Chosen Option : 4

Q.10 Which letter-cluster will replace the question mark (?) to complete the given series?
ABDG, DEGJ, ? , JKMP, MNPS

Ans X 1.FHIK
X 2. GHKM
« 3. GHIM
X 4.FGIL

Question ID : 26433067717
Status : Answered
Chosen Option : 3
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Q14
ot

Ans

Which Tigure should replace the question mark (?) if the series were to be

continued?
O X c|P P X
s X =|= o| = P
o 0 X 9]
P
X1 =
X 2
T
o« 2. X =
8]
T
X 3 X =
@
X P
<4 =
2

Question ID : 26433076641
Status : Answered
Chosen Option : 2

Q.12

Ans

Six students are sitting around a circular table facing the centre. F is an immediate
neighbour of A. D sits second to the right of E. B is an immediate neighbour of E and
sits second to the right of C. F sits second to the right of D. A is not an immediate
neighbour of E. Who is sitting between D and E?

X1.c
X 2.F
& 3.B
X 4.A

Question ID : 26433092766
Status : Not Answered
Chosen Option : --

Q.13

Ans

Five people A, B, C, D, and E are sitting in a straight row facing the North. A is sitting
to the immediate left of C. Only C is sitting between A and E. B is sitting to the right of
E. D is sitting to the right of B. Who is sitting at the extreme left of the row?

X 1.D
K 2cC
& 3A
X 4B

Question ID : 26433074621
Status : Not Answered
Chosen Option : --
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Q14 Which-twe-signs-should be interchanged to make the below equation mathematically

correct?
72-36x4+6+24=42

Ans 1. +andx
X 2. +and-
& 3.-and =+
X 4. xand +

Question ID : 264330117535
Status : Answered
Chosen Option : 1

Q.15 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word.)

Resistance : Ohm :: Energy : ?

Ans X 1.Volt
X 2. Strength
X 3. Watt
o 4. Joule

Question ID : 26433067370
Status : Answered
Chosen Option : 4

Q.16 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

LEAP : KFZQ :: CLOS : BMNT :: EJOT : ?

Ans X 1.KCNS
« 2. DKNU
X 3.KDZO
X 4. DKNS

Question ID : 26433080462
Status : Answered
Chosen Option : 2

Q.17 In a certain code language, ‘STORK’ is written as ‘URROO’ and ‘ASHES’ is written as
‘CQKBW’. How will ‘BUNKE’ be written in that language?

Ans X 1.DRPGI
% 2. DSPHG
% 3.DsQal
« 4. DSQHI

Question ID : 26433069607
Status : Answered
Chosen Option : 4
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number.
46:11::30:7::50: 7

Ans X 1.8

X 2.13

« 3.12

X 4.9

Q-18—Select-the-option-that is related to the fifth number in the same way as the second
number is related to the first number and the fourth number is related to the third

Question ID : 26433069417
Status : Answered
Chosen Option : 3

2t

Ans

Q19 gelect the option figure in which the question figure is embedded(Rotation is not allowed).

Question ID : 26433070206
Status : Answered
Chosen Option : 2

how will 'FLOWER' be written in that language?
Ans X 1.QDVNKD

« 2. QDVNKE
< 3. QDWNKE
< 4. EDVNKE

Q.20 In a code language, 'LEAF' is written as ‘EZDK’ and ‘PLANT’ is written as 'SMZKO’,

Question ID : 26433079392
Status : Answered
Chosen Option : 4

Section : Part-B-General Knowledge and General awareness
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Q-4—n-ndiatnter-religion marriages are performed under this Act:

Ans X 1.Indian Succession Act
#< 2. Hindu Marriage and Adoption Act
< 3. Civil Procedure Code
«” 4. Special Marriage Act

Question ID : 264330116223
Status : Answered
Chosen Option : 4

Q.2 The green revolution in India started in the late 1960s in
Ans X 1. Maharashtra

o 2. Punjab
/< 3. Uttarakhand
& 4. Andhra Pradesh

Question ID : 264330116157
Status : Answered
Chosen Option : 2

Q.3 What are the industrially developed urban centers usually surrounded by?

Ans X 1. agricultural urban hinterland
«” 2. agricultural rural hinterland
/5 3. Costal hinterland
/5 4. seaport hinterland

Question ID : 264330115569
Status : Answered
Chosen Option : 1

Q.4 What is the term used for people who regularly move in and out of poverty line?
Ans X 1. Occasionally poor

< 2. Usually Poor
% 3. Chronic poor
«” 4. Churning poor

Question ID : 264330116077
Status : Answered
Chosen Option : 1

Q.5 The allocates ranks and portfolios to the ministers in the states.
Ans X 1.speaker

< 2. governor
«” 3. chief minister
/5 4. head of the political party

Question ID : 26433086673
Status : Answered
Chosen Option : 3
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Q-6—ldentify-a-dwarf-plaret from the following list.
Ans X 1. Neptune

5 2. Mercury

X 3.Mars

" 4. Pluto

Question ID : 26433087885
Status : Answered
Chosen Option : 4

Q.7 Fundamental duties are listed in Article of Part IV A of the Indian

Constitution.
Ans 7 1.11;51A

& 2.11;52A
X 3.13;52A
< 4.13;51A

Question ID : 26433089910
Status : Answered
Chosen Option : 1

Q.8 2020 Summer Paralympics was hosted by
Ans X 1.Korea

X 2. Russia

«” 3. Japan
X 4. France

Question ID : 264330115915
Status : Not Answered
Chosen Option : --

Q.9 The term "LBW" Is related to which sport?
Ans o 1. Cricket

5 2. Volleyball
/< 3. Football
/5 4. Badminton

Question ID : 264330116291
Status : Answered
Chosen Option : 1

Q.10 The person or entity writing the cheque is known as the payer or
Ans X 1.drawee

< 2. producer
«” 3. drawer
X 4. seller

Question ID : 264330115322
Status : Answered
Chosen Option : 1
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Q-H1—SherKhan-defeatedlHumayun at Chausa in

Ans o 1.1539
X 2.1537
X 3.1541
X 4.1545

Question ID : 264330115703
Status : Answered
Chosen Option : 1

Q.12 Which of the following was a provincial capital under the rule of Ashoka?
I. Taxila
Il. Ujjain

Ans X 1. Neither | nor Il

/< 2.0nly I
” 3.Bothlandll

X 4.0nly |

Question ID : 26433085216
Status : Not Answered
Chosen Option : --

Q.13 Who has been appointed as the 16th Attorney General of India in September 20227
Ans X 1. Mukul Rohatgi

5 2. Goolam Essaji Vahanvati
«” 3. R Venkataramani
/5 4. Kotayan Katankot Venugopal

Question ID : 264330115025
Status : Answered
Chosen Option : 3

Q.14 Who was the Presidential candidate of India by opposition parties in June 2022?
Ans X 1. Sonia Gandhi

< 2. Jairam Ramesh
«” 3. Yashwant Sinha
& 4. Draupadi Murmu

Question ID : 264330114920
Status : Answered
Chosen Option : 3

Q.15 Which of the following organization governs the international trade?

Ans X 1. International Labor Organization
/5 2. United Nations Educational, Scientific and Cultural Organization
#5 3. Securities and Exchange Board of India

«” 4. World Trade Organization

Question ID : 264330115384
Status : Answered
Chosen Option : 4
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pecific-pl of-an organism in the food chain is called as

Ans X 1.standing crop
X 2. biomass
< 3. consumer

o 4. trophic level

Question ID : 264330115253
Status : Answered
Chosen Option : 4

Q.17 is the chemical formula of ethanoic Acid.
Ans X 1. CH,COOH

& 2. CH,OH

«” 3. CH3COOH

# 4. CH30H

Question ID : 264330115155
Status : Answered
Chosen Option : 1

Q.18 Makar Sankranti marks the beginning of ‘Uttarayana’ and is celebrated on

Ans X 1.20th January
X 2. 16th March
«” 3. 14th January
X 4. 15th February

Question ID : 264330115096
Status : Answered
Chosen Option : 3

Q.19 Which of the following dance types is NOT associated with Jharkhand?
Ans X 1.Agni

/5 2. Phagua
/< 3. Mardana Jhumar
« 4. Lavani

Question ID : 26433071688
Status : Answered
Chosen Option : 4

Akademi Fellow ( Akademi Ratna)?
Ans X 1. Tankeswar Hazarika Borbayan

5 2. Sarodi Saikia
«” 3. Sonal Mansingh
/5 4. Jogen Dutta Bayan

Q.20 Which among the following Indian Classical Dancer has been awarded Sangeet Natak

Question ID : 264330115877
Status : Not Answered
Chosen Option : --

Section : Part-C-Elementary Mathematics
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Q-4—TFhe-rati ight of Ram, Shyam and Mohan is 7 : 8 : 5 respectively. The average

atio-of-the-weig
weight of Ram, Shyam and Mohan is 80 kg. What is the average weight of Ram and
Shyam ?

Ans X 1.95kg
X 2.80kg
 3.90kg
X 4.85kg

Question ID : 26433075526
Status : Answered
Chosen Option : 3

Q.2 In a 500 m race, P runs at 2 kmph. P gives Q a head start of 20 m and still beats him by
60 seconds. Find the speed of Q.

Ans X 1.1.6 kmph
& 2. 1.8 kmph
2 3.1.9 kmph
< 4.1.5kmph

Question ID : 26433080243
Status : Answered
Chosen Option : 2

Q.3 A batsman scored 96 runs which included 2 boundaries and 6 sixes. What percent of
his total score did he make by running between the wickets?

Ans X 1.52.68 percent
& 2. 54.16 percent
/< 3.64.18 percent
5 4.72.16 percent

Question ID : 264330116827
Status : Answered
Chosen Option : 2

Q.4 The cost of painting a solid cone at 30 paise per cm? is 2660. Find the radius of the cone if its slant

22

height is 15 cm. (Use = 7)

Ans X 1.50cm
X 2.40cm
< 3.30cm
o 4.20cm

Question ID : 26433080071
Status : Answered
Chosen Option : 4

Q.5 Manoj invests Rs.57,695, which is 11% of his annual income, in mutual funds. What is
his monthly income? (Rounded up to 2 decimal places)

Ans 1. Rs.43,708.33
X 2. Rs.63,441.99
X 3 Rs.77,266.54
X 4. Rs.54,329.89

Question ID : 26433082711
Status : Answered
Chosen Option : 1
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8 3 4 3
Ans X 1.48
X 2.24
X 3.12
o 4.36

Question ID : 26433074976
Status : Answered
Chosen Option : 4

Q.7 If 9 persons can do a job in 18 days, then 18 persons with twice the efficiency can do
the same job in:

Ans

vt 2 days
2

x 2. g days

X3 % days

X 4 ; days

Question ID : 26433080137
Status : Answered
Chosen Option : 1

Q.8 A sphere of radius 6 m is cut into two equal halves. Find the volume of each hemisphere so formed.

(tmen=7)
SeT = 7

Ans X' 1.331.14m3
o 2.452.57m3
X 3.562.18 m3
X 4.531.11m3

Question ID : 26433080066
Status : Answered
Chosen Option : 2

Q.9 The marked price of a toy is Rs.1,600. If the shopkeeper declares a discount of 10%
and then 10% cash discount, then what is the selling price of the toy?

Ans X 1.Rs.1,096
« 2. Rs.1,296
& 3.Rs.1,240
< 4.Rs.1,088

Question ID : 26433075661
Status : Answered
Chosen Option : 2
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Q-10—TFhe-valuation-efa-house depreciates at the rate of 10% in a year, compared to its value

at the beginning of that year. If the current value of the house is ¥40,00,000, then what
will be the value of house after three years?

Ans 7 1.%29,16,000
< 2.%28,00,000
/< 3.%29,06,000
X 4.%29,26,000

Question ID : 26433075885
Status : Answered
Chosen Option : 1

Q.11 Reeta says that she sells her goods at the cost price. If she uses 80 gram weight
instead of 100 gram, then what is her profit percentage?

Ans X 1.10%
& 2.25%
& 3.15%
&K 4.20%

Question ID : 26433075654
Status : Answered
Chosen Option : 2

@12 Find the fourth proportional of s3, s2t, and st2,
Ans i i3

X2 st

X3 g2

X4 g242

Question ID : 26433080329
Status : Answered
Chosen Option : 1

Q.13 Suman and Arun together can finish a piece of work in 96 days, Arun and Rahul in 48
days, and Rahul and Suman in 80 days, then Rahul, Suman, and Arun jointly can finish

the same work in approximately how many days?
Ans X 1.55days
X 2. 44 days
X 3.54 days
" 4.46 days

Question ID : 264330116907
Status : Answered
Chosen Option : 4
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Q-14—Regularly-a-shep-offers a 12% discount on the marked price. During festive seasons, it

a4

offers a successive discount of 10% and the owner still earns a profit of 5%. What
would have been the profit in percentage if only 4% successive discount is offered
with regular discount?

Ans X 1. 11%
X2 12.5%
X3 11.5%
v 4 12%

Question ID : 26433085449
Status : Not Answered

Chosen Option : --

Q.15 The average weight of 10 persons increases by 7.9 kg when a new person replaces
one of them weighing 20 kg. What is the weight of the new person?

Ans X 1.170kg
X 2.86kg
« 3. 99 kg
X 4.72kg

Question ID : 26433079996
Status : Answered
Chosen Option : 3

Q.16 Anand can row 8 km/h in still water. It takes him thrice as long to row up as to row
down the stream. Find the speed of the stream.

Ans o 1.4 km/h
& 2.3 km/h
& 3.4.5km/h
& 4.3.5km/h

Question ID : 26433080197
Status : Answered
Chosen Option : 1

Q.17 What is the third proportional of 5x2 and 3xy?
Ans (gyZ)
wEs — e
(9x%y?)
5

(9xy)

X3
5x

(9x%)
5

Question ID : 26433076226
Status : Answered
Chosen Option : 1
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Q-18—On-a-certai ineipal, the compound interest, compounded annually, for the second

year at 20% per annum is Rs.1,300. The principal is (consider nearest integral value):

Ans X 1.Rs.5,600
5 2.Rs.5,400
 3.Rs.5,416
& 4.Rs.4,416

Question ID : 26433075390
Status : Not Answered
Chosen Option : --

Q.19 Two cars start taking laps of a circular track of 3.6 kms at the same time of 12:00 PM.
They start from the same point and they are moving in the same direction. Their
speeds are 72 kmph and 90 kmph respectively. At what time will the cars meet again?

Ans 7 1.12:12 PM
X 2.12:06 PM
/< 3.12:03 PM
X 4.12:09 PM

Question ID : 264330116637
Status : Not Answered
Chosen Option : --

Q.20 A shopkeeper sells oil at 200 per litre, which he purchased for 160 per litre, but he
gives only 800 ml of oil instead of 1 litre while selling. Find the actual percentage of

profit.
Ans 1. 56.25%

X 2.54.25%
X3 52.25%
X 4. 58.25%

Question ID : 26433080108
Status : Answered
Chosen Option : 1

Section : Part-D-English

Q.1 Select the most appropriate meaning of the underlined idiom in the following
sentence.

The local police were working hand in glove with Federal Bureau of Investigation to
find the reasons behind the murder.

Ans X 1. To have liking for each other
o 2. To be in close association
5 3. In keeping with

/5 4. To progress at equal rate

Question ID : 26433073877
Status : Answered
Chosen Option : 2
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Q-2—Selest-the-mest-appropriate spelling that can correctly substitute the misspelt

underlined segment in the given sentence.
Who will adjuddicate on this matter?

Ans X 1.addjudicate

& 2. adjjudicate

/< 3. adjudiccate

o 4. adjudicate

Question ID : 26433071938
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate synonym of the given word.
Timid
Ans 7 1. Fearful
< 2.Bold
/< 3. Adventurous
/5 4. Forthcoming

Question ID : 26433073686
Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate ANTONYM of the given word.
Disdain
Ans X 1. Antipathy
25 2.Scorn
< 3. Dislike
«” 4. Respect

Question ID : 26433072663
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate synonym of the underlined word.

The price of fuel is declining as the elections are approaching.

Ans X 1.Extending

/5 2. Exalting
< 3. Increasing
«” 4. Decreasing

Question ID : 26433084684
Status : Answered
Chosen Option : 4
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Q-6—TFhe-following-sentence has been divided into parts. One of them may contain an error.

Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

The blind man can perform / wonderfully well even though / he was old now.
Ans & 1. he was old now

25 2. No error

/< 3. The blind man can perform

5 4. wonderfully well even though

Question ID : 26433073764
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate meaning of the given idiom.

Bounce something off someone
Ans X 1. Distribute materials to the poor and the needy
«” 2. Discuss ideas with someone to get their views

X 3. Select members for something without their consent

5 4. Throw stones at others without any reason

Question ID : 26433073489
Status : Answered
Chosen Option : 3

Q.8 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

An unexpected power failure which happened besides the recording disheartened all
of them.

Ans & 1. happened during the recording

5 2. happened until the recording
/5 3. happened among the recording
/< 4. happen between the recording

Question ID : 264330100990
Status : Answered
Chosen Option : 1

Q.9 Identify from the following options the word which is OPPOSITE in meaning to the

given word.
Valiant

Ans ¢ 1. Cowardly
/< 2. Similar
< 3. Heroic

2 4.Dull

Question ID : 26433088817
Status : Answered
Chosen Option : 1
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Q-10—Select-the-mest-appropriate synonym of the word given in brackets to fill in the blank.

The soldiers exhibited their (courage) during the war.
Ans X 1.anchor

& 2. valour
/< 3. candour
X 4. timidity

Question ID : 26433089075
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate option to fill in the blank.
He fell unconscious due to a snake bite, so the doctor quickly gave him

Ans X 1. the antibiotic
< 2. the antigen
¢ 3. the antidote
< 4. the antiquary

Question ID : 26433084653
Status : Answered
Chosen Option : 3

Q.12 The sentence given below has one misspelt word. Spot the INCORRECTLY spelt word
and select its correct spelling.

He picked up his lugage and crossed the road.
Ans X 1.lLaggage
«” 2. Luggage
/5 3. Lugaze
& 4. Lagage

Question ID : 26433073556
Status : Answered
Chosen Option : 2

Q.13 Select the correct pair of homonyms to fill in the blanks.
The Prime Minister the nation asking for the of the traitors.
Ans X 1.meant, mean
/< 2. address, addressed
< 3. mean, meant

o 4. addressed, address

Question ID : 26433061050
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate homonym to fill in the blank.
I think he is the person for this job.

Ans X 1.write
X 2. rite
«” 3. right
< 4. wright

Question ID : 26433060049
Status : Answered
Chosen Option : 3
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Q45
ot

Select-the-word-segiment that substitutes (replaces) the bracketed word segment

Ans

correctly and completes the sentence meaningfully.

People in temperate (country pay little attention) to mangroves.
/< 1. country pays little attention
/X 2. countries pays little attention
«” 3. countries pay little attention

/< 4. country paid little attention

Question ID : 26433088960
Status : Answered
Chosen Option : 3

Q.16
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

While stone sculptures and reliefs (1) the exterior of great religious monuments for
many centuries, bronze sculptures of the gods were probably a later development. In
southern India, kings and queens of the Chola dynasty were well- known patrons of great
Hindu (2) . Marvellous bronze sculptures were worshipped in the temple context,
and carried through the streets in (3) during religious festivals. Such great
temple festivals, involving massive carts that transport divine images, still (4)

today throughout India, and major celebrations may draw hundreds of thousands of
participants. Such images were popular during the Chola dynasty because people
increasingly wanted a more intimate, emotional relationship with the gods. These ideas were
(5) to the religious movement known as ‘Bhakti’, a personal and emotional
experience of divinity.

SubQuestion No : 16
Select the most appropriate option to fill in blank number 1.
< 1. monitored

/< 2. overshadowed
o 3. ornamented

< 4. ruined

Question ID : 26433072736
Status : Answered
Chosen Option : 3

Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

While stone sculptures and reliefs (1) the exterior of great religious monuments for
many centuries, bronze sculptures of the gods were probably a later development. In
southern India, kings and queens of the Chola dynasty were well- known patrons of great
Hindu (2) . Marvellous bronze sculptures were worshipped in the temple context,
and carried through the streets in (3) during religious festivals. Such great
temple festivals, involving massive carts that transport divine images, still (4)

today throughout India, and major celebrations may draw hundreds of thousands of
participants. Such images were popular during the Chola dynasty because people
increasingly wanted a more intimate, emotional relationship with the gods. These ideas were
(5) to the religious movement known as ‘Bhakti’, a personal and emotional
experience of divinity.

SubQuestion No : 17

Q.17 Select the most appropriate option to fill in blank number 2.

X 1. regulations
X 2. saints

25 3. states

" 4. temples

Question ID : 26433072737
Status : Answered
Chosen Option : 4
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Comprehension—

Q.18
Ans

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

While stone sculptures and reliefs (1) the exterior of great religious monuments for
many centuries, bronze sculptures of the gods were probably a later development. In
southern India, kings and queens of the Chola dynasty were well- known patrons of great
Hindu (2) . Marvellous bronze sculptures were worshipped in the temple context,
and carried through the streets in (3) during religious festivals. Such great
temple festivals, involving massive carts that transport divine images, still (4)

today throughout India, and major celebrations may draw hundreds of thousands of
participants. Such images were popular during the Chola dynasty because people
increasingly wanted a more intimate, emotional relationship with the gods. These ideas were
(5) to the religious movement known as ‘Bhakti’, a personal and emotional
experience of divinity.

SubQuestion No : 18
Select the most appropriate option to fill in blank number 3.
X 1. vessels

& 2. competitions
X 3. patterns

o 4. processions

Question ID : 26433072738
Status : Answered
Chosen Option : 4

Q.19
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

While stone sculptures and reliefs (1) the exterior of great religious monuments for
many centuries, bronze sculptures of the gods were probably a later development. In
southern India, kings and queens of the Chola dynasty were well- known patrons of great
Hindu (2) . Marvellous bronze sculptures were worshipped in the temple context,
and carried through the streets in (3) during religious festivals. Such great
temple festivals, involving massive carts that transport divine images, still (4)

today throughout India, and major celebrations may draw hundreds of thousands of
participants. Such images were popular during the Chola dynasty because people
increasingly wanted a more intimate, emotional relationship with the gods. These ideas were
(5) to the religious movement known as ‘Bhakti’, a personal and emotional
experience of divinity.

SubQuestion No : 19
Select the most appropriate option to fill in blank number 4.
" 1. occur

X 2. accede
< 3. herald
5 4. inspire

Question ID : 26433072739
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

While stone sculptures and reliefs (1) the exterior of great religious monuments for
many centuries, bronze sculptures of the gods were probably a later development. In
southern India, kings and queens of the Chola dynasty were well- known patrons of great
Hindu (2) . Marvellous bronze sculptures were worshipped in the temple context,
and carried through the streets in (3) during religious festivals. Such great
temple festivals, involving massive carts that transport divine images, still (4)

today throughout India, and major celebrations may draw hundreds of thousands of
participants. Such images were popular during the Chola dynasty because people
increasingly wanted a more intimate, emotional relationship with the gods. These ideas were
(5) to the religious movement known as ‘Bhakti’, a personal and emotional
experience of divinity.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans X 1.analogous
5 2. foreign
< 3. contrary
o 4. central

Question ID : 26433072740
Status : Answered
Chosen Option : 1

Section : Part-D-Hindi

Q1 Pofiafed § @ 919 91 te sede frar o1 Ieeu T8 22
Ans o 1. i @ S B

X 2. OFTIHEAT B
X 3. g Ad gl
X 4. 3P gEAT R

Question ID : 26433085042
Status : Not Answered
Chosen Option : --

Q.2 fyfifad faeeul # @ VX I ST a9 SIel BIS Ud1 7 UT 9’ I & e ve adfe
Mg FIT G 2
Ans X 1. (e

X 2. fram
X3y
o 4. SRITAary

Question ID : 26433062533
Status : Not Answered
Chosen Option : --

Q3 fafifed el 3 @ e o area & Ry &1 Sfua v fear g
Ans X1.ﬁ€¢[1ﬁ%{ﬁw%l

X 2. AIWAR

3. STDI HIST G &

X 4. O TR H B

Question ID : 26433062963
Status : Not Answered
Chosen Option : --
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Q4—Fueor--EPii - weg T B e are a1 § e =i 3t g S

TR T PR
Ans X 1 axgeif

2. SUEHI

X 3. aneFTeft

X 4. 3ameun

Question ID : 26433063082
Status : Not Answered
Chosen Option : --

Q5 frafafea fsed & @ o1 wRAr gerar o1 ad 7 g2
Ans 1 S B
X 2. A B
X 3. WaTE BRAT
X 4 PR B

Question ID : 26433062550
Status : Not Answered
Chosen Option : --

Q.6 ﬁgﬁr@aﬁmﬁﬁﬁﬁwmm—@wﬁmﬁm%mwm%maﬁq
qre?

Ans X 1. gHaeff

X 2. 31418

o 3. U

X 498

Question ID : 264330109528
Status : Not Answered
Chosen Option : --

Q.7 SRTEA T I IR Sl B 1’ Ao Yo ST Ueg BT Ugigarel Weg el 8-
Ans 1. 309

X 2. fafm

& 3. DA

X 4. BIAR

Question ID : 26433069740
Status : Not Answered
Chosen Option : --

Q.8 frgfrfad arga & Ya@ifhd e @1, fawe # for T Tl # & PH-91 ek Taiaar=h T8t

Egﬁﬁaﬂmué‘rmﬁﬁ@%l
Ans 1 Had
X 2.98W
X 3. 4@
X 4. =T

Question ID : 26433085069
Status : Not Answered
Chosen Option : --
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Q9
g

AgAdded_ Ferddl

Tp-fT-F-IHIRI-$-91G

IR a1 § Ra W $t gfd IR Wy gy Fifomg|
Ans X 1.7C®

V2R

X 3.3d

X 4. foch

Question ID : 26433062617
Status : Not Answered
Chosen Option : --

Q.10 Fufafes o d g= T ?-

Ans X 1. %% et ggl wiH € )
X 2. &< st agi 51 81 Y
3. @ Raast g w1 81 Tl
X 4. %3 [Tt a8 o1 € Ul

Question ID : 26433066841
Status : Not Answered
Chosen Option : --

Q.11 i f3u 71U 9T & Y Y BT 99+ fabeul § F B
98 IRUTS R fasi fyer fean

Ans X 1. 98 IRUE H fagH fasr &
2. 3T IRUTE W s fe
X 3.397 9RUR ¥ fasi fasm)
X 4. 98 IRUR H o fer faa

Question ID : 26433063071
Status : Not Answered
Chosen Option : --

Q.12 o9y A At aray die T
Y TTAd 919 & 9ed Ja! 919 BT 99 e

Ans o 1.19Y 9 AT die |
X 2. 7w0Y § gfesat Ol ge uel
X 3. 90y Y U Ffpar o Ul
X 4.0y ¥ SferET 9o die TR |

Question ID : 26433062695
Status : Not Answered
Chosen Option : --

Q.13 g oo # Weiferd T & WM R UG g4 ard 999 Sugd faeey &1 999
%I‘z@tﬁﬁlﬁaﬁ%’?
Ans 1 fba
X 2. fod
X 3. Pd
X 450

Question ID : 26433079573
Status : Not Answered
Chosen Option : --
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Question ID : 26433070050
Status : Not Answered
Chosen Option : --

Ans

X 1. 8=
X 2. SFRUl
X3g&

o 4.7

Q.15 i oo & Waifed e & R s &1 76 w3 Rea == @1 gfid sk
FW ¥ IH o1 @HE RR 3 7afs aaa # a8 21

Question ID : 26433091347
Status : Not Answered
Chosen Option : --

Ans

Comprehension:

frofafad T ¥ oo e @i ger fgan w1 71 A e faswedt ot werdr & Rad vt 3 gfif

FIY | T WHAT & 1T G IUGAd [ddhed BT 99 Hiforg|

&1 3MfUH JUTNT ISP SilaH I g 3rdfd 2.
ffd FR &1 AT B G & UBR & A 8- U 3 Sl 30 Sila 1 3.

977 3R IR & 3R IR I o RIS o7 P S(0er 4. T Y B PR &

fSlidt I dreqd 37 Afdadl 4 g o 1.

| TS & forg g1 a1 5. tiEcakd

SubQuestion No : 16

Q.16 f¥aa R 1 Ft g & e wad Suga fawed o1 997 Fifem|

X 194
v 23
X 3. fezama
X 4.%®

Question ID : 264330111017
Status : Not Answered
Chosen Option : --

Ans

Comprehension:

Frafofed e 3o el @1 ger faar mar 71 e T fased! ot geraar § fad v &1 gfd

DT | TS TS & oI T SUgad fadhed &1 99 Bitod |

BT I JTTNT Hb Sila Fard g 3rufd 2.
3T R &1 AT B TRA: &) UBR & AT §- TP o off 30 Siia § 3.

o1 SAfep PR § SR AR 3 off AR 37 BT 30 4. A Y HTY B &

fGiidt I dreqd 37 el 4 g o 1.

| TS & forg I 1 5. BT B

SubQuestion No : 17

Q.17 f¥ad ®IF 2 3t gfd & e wa@ Suga fawed o1 997 Fifom)

X 1.\

o 2. Slifdadt
X 3. yffrer
X 4. RadH

Question ID : 264330111018
Status : Not Answered
Chosen Option : --
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Comprehensi

oo T & o w & ger fear T 1 3y e fawent @t weraar 3 Rad =it ot gff
HITY | TP T & T a8 Iugad faded o1 =0 Hiforg|
oot I areqd 37 o I § i 1. BT AR IUGNT b oifa Fad & 3 2.
ST TR & | TAN H T: & THR P T §- T J S 30 Sitg | 3.
417 3R P & SR IR 3 o AR 97 P 3MTar 4. T Y B B &
| AT & fo1g I b 5. HiEcakd

SubQuestion No : 18

Q.18 Yo =T 3 F1 el F e Had Iuga ey &1 7u-1 S|
Ans 1 9HIRS

X 2. fe@man

X 3.7l

X 4. 9=

Question ID : 264330111019
Status : Not Answered
Chosen Option : --

Comprehension:

Fgfaiad e ¥ o eal &I gt faar mar g1 faw M fawedt @) werar & Rad wil @t gfd

FIY | T WHAT & 1T G IUGAd [ddhed BT 99 Biforg|

ol I areqd S ol I 8 S 1. BT AR IUGNT PP g Fad & 37 2.
ffd FR & | AT B G 3 UBR & Ao 8- T d Sl S0 Sita 1 3.

977 3R IR & 3R IR I o RIS o7 BT 3(0ar 4. A Y B PR &
| THTS & 1T G &1 5. BT B

SubQuestion No : 19
Q.19 Yo T 4 ot gfd & fore wed Suge fawe &1 797 Fifom|
Ans X 1.9S
v 23S
X 3.8
X 4.3

Question ID : 264330111020
Status : Not Answered
Chosen Option : --

Comprehension:

Fgforiad e & 3o sal &I gl faar mar 71 faw T s @t gerdr & Rad vl ot gfd

DY | TS TS & oI T SUgad fadhed &1 99 Bifod |

fGlidt I dreqd 37 fcaal 4 g o 1. 1 31fich STGNT b Sl T & S 2.
ST R &1 ST B TRAT: &Y UBR &b AT §- TP d off 3 Siia 7 3.

o7 3T PR § SR gAX 3 off AR 37 BT 30 4. A Y HTY B §
| TS & forg gAY 1 5. BT B

SubQuestion No : 20
Q.20 f¥aa v 5 1 gid F e e Suged s &1 9= S|
Ans  x 1 fifad
X 2. faaw
o 3. 3t
X 4.®H

Question ID : 264330111021
Status : Not Answered
Chosen Option : --
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